NATURE OF CODE
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Coding
Challenge:
Maze

Generator -
Part 2

Daniel Shiffman
YouTube - The Coding Train


https://www.youtube.com/user/shiffman
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Random  Force






RANDOM

Perlin Noise

‘produces a naturally ordered sequence of random numbers”



Random

Perlin Noise
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FORCE (&!)
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.acceleration.mult(0)

.acceleration.add( .getBoostingForce())

.velocity.add( .acceleration)
. pos.add( .velocity)
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FORCE (&!)

S7| A

magnitude is speed squared * coefficent of drag

f_\)\_/\
— 2 % * (5 _
e = IVIP %, * 0 -1
direction is opposite of v (velocity)

c = 0.1
objectSpeed = velocity.magnitude()

dragMagnitude = ¢ * objectSpeed * objectSpeed
oppositeDirection = velocity.direction().inverse()
dragForce = dragMagnitude * oppositeDirection
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.acceleration.mult(0)

.acceleration.add( .getBoostingForce())
.acceleration.add( .getAirResistanceForce())

.velocity.add( .acceleration)
.pos.add( .velocity)
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